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QUESTION 1

Which four items exist in the root of a CDB, but not in the PDBs? 

A. shared UNDO and default database temporary tablespace 

B. Oracle-supplied metadata 

C. shared Oracle-supplied data 

D. CDB views providing information across PDBs 

E. application tablespaces 

F. local temporary tablespaces 

G. local users and local roles H. non-shared local metadata 

Correct Answer: ABCD 

 

 

QUESTION 2

Which two statements are true about this common user? 

A. SQL> conn c##usr/pwd@pdb1 You are connected to PDB1 successfully. 

B. SQL> conn c##usr/pwd@pdb2 You are connected to PDB2 successfully. 

C. SQL> conn c##usr/pwd@pdb2 You are unable to create a connection. You first need to sync PDB2 by executing:
SQL> conn / as sysdba SQL>exec DBMS_PDB.SYNC_PDB; 

D. SQL> conn c##usr/pwd@pdb2 You are unable to create a connection. You need to create the common user c# #usr
explicitly in PDB2 by executing: SQL>conn system/pwd@pdb2 SQL> CREATE USER c##usrIDENTIFIED BYpwd
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CONTAINER=CURRENT; Now you are able to connect as common user c##usr to PDB2. 

Correct Answer: AD 

 

 

QUESTION 3

Which two statements are true regarding SQL*Plus? 

A. It has commands for performing database administration operations. 

B. It can be used in interactive but not batch mode for SQL commands. 

C. It has to be installed separately after the Oracle Database 12c installation. 

D. Operating system commands can be executed from the SQL*Plus command prompt. 

Correct Answer: AC 

C: how to start SQL*Plus: 

1- Make sure that SQL*Plus has been installed on your computer. 

2.

 Log on to the operating system (if required). 

3.

 Enter the command, SQLPLUS, and press Return. 

Etc. 

Not B: In SQL*Plus command-line, the use of an external editor in combination with the @, @@ or START commands
is an effective method of creating and executing generic scripts. You can write scripts which contain SQL*Plus, SQL and
PL/SQL commands, which you can retrieve and edit. This is especially useful for storing complex commands or
frequently used reports. 

Reference: http://docs.oracle.com/cd/B14117_01/server.101/b12170/qstart.htm 

 

QUESTION 4

You want to drop a pluggable database from a multitenant container database that is used for development, which two
statements are true? 

A. You can drop the PDB only if it is closed. 

B. You can drop the seed PDB, but you cannot create any other PDB within the CDB. 

C. You can drop the PDB and keep the data files to be reused by another PDB. 

D. When you drop the PDB, the data files and redo log files are automatically removed from the storage file system. 
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Correct Answer: AD 

 

 

QUESTION 5

Examine the command below: 

LSNRCTL> SERVICES LISTENER2 

Connecting to (DESCRIPTION=(ADDRESS= (PROTOCOL=TCP) (HOST=estb. us. abc.com) 

(PORT=1525))) 

Services Summary. . . 

Service "orcl.oracle.com" has 1 instance(s). 

Instance "oracle", status UNKNOWN, has 1 handler(s) for this service... Handler(s): 

"DEDICATED" established:2 refused:0 LOCAL SERVER The command completed successfully 

Which two statements are true about LISTENER2? 

A. The ORCL instance is registered dynamically with the listener. 

B. The ORCL instance is registered statically in the listener.ora file. 

C. The number of current client connections handled by the service handler is two. 

D. The total number of client connections handled so far by the service handler is two. 

Correct Answer: AC 
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